

Exercise 3.6

Sr. No	$y = f(x)$	$\frac{dy}{dx}$
1.	$y = \sinh x$ ✓	$\cosh x$
2.	$y = \cosh x$	$\sinh x$
3.	$y = \tanh x$	$\operatorname{sech}^2 x$
4.	$y = \coth x$	$-\operatorname{csch}^2 x$
5.	$y = \operatorname{csch} x$	$-\operatorname{csch} x \cdot \coth x$
6.	$y = \operatorname{sech} x$	$-\operatorname{sech} x \cdot \tanh x$
7.	$y = \sinh^{-1} x$	$\frac{1}{\sqrt{x^2+1}}, -\infty < x < \infty$
8.	$y = \cosh^{-1} x$	$\frac{1}{\sqrt{x^2-1}}, x > 1$
9.	$y = \tanh^{-1} x$	$\frac{1}{1-x^2}, x < 1$
10.	$y = \coth^{-1} x$	$\frac{1}{1-x^2}, x > 1$
11.	$y = \operatorname{csch}^{-1} x$	$-\frac{1}{x\sqrt{1+x^2}}, x > 0$
12.	$y = \operatorname{sech}^{-1} x$	$-\frac{1}{x\sqrt{1-x^2}}, 0 < x < 1$

Exercise # 3.6

Q Differentiate the following w.r.t. 'x'.

(i) Let $y = \sinh[\ln(x+3)]$

$$\begin{aligned}\frac{dy}{dx} &= \frac{d}{dx} \sinh[\ln(x+3)] \\ &= \cosh[\ln(x+3)] \cdot \frac{d}{dx} \ln(x+3) \\ &= \cosh[\ln(x+3)] \cdot \frac{1}{x+3} \cdot \frac{d}{dx} (x+3) \\ &= \cosh(\ln(x+3)) \cdot \frac{1}{x+3} \cdot 1 \\ &= \frac{\cosh[\ln(x+3)]}{x+3}\end{aligned}$$

For videos, visit YouTube

Suppose Math.

0332-6297570

DKHTAR B3AS.

(ii) Let $y = \sinh(e^{3x})$

$$(\sinh x)' = \cosh x$$

$$(e^x)' = e^x$$

$$\begin{aligned}\frac{dy}{dx} &= \frac{d}{dx} \sinh(e^{3x}) \\ &= \cosh(e^{3x}) \cdot \frac{d}{dx} (e^{3x}) \\ &= \cosh(e^{3x}) \cdot e^{3x} \frac{d}{dx} (3x) \\ &= \cosh(e^{3x}) \cdot e^{3x} \cdot 3 \\ &= 3e^{3x} \cosh(e^{3x}).\end{aligned}$$

(iii) Let $y = \cosh(2x^2 + 3x)$

$$\frac{d}{dx} (\cosh x) = \sinh x$$

$$\begin{aligned}\frac{dy}{dx} &= \frac{d}{dx} \cosh(2x^2 + 3x) \\ &= \sinh(2x^2 + 3x) \cdot \frac{d}{dx} (2x^2 + 3x) \\ &= \sinh(2x^2 + 3x) \cdot (4x + 3) \\ &= (4x + 3) \sinh(2x^2 + 3x).\end{aligned}$$

(iv) Let $y = \frac{\tanh \sqrt{x}}{\sqrt{\cosh x}}$

$$\frac{dy}{dx} = \frac{d}{dx} \left(\frac{\tanh \sqrt{x}}{\sqrt{\cosh x}} \right)$$

$$= \frac{\sqrt{\cosh x} \cdot \frac{d}{dx} (\tanh \sqrt{x}) - \tanh \sqrt{x} \cdot \frac{d}{dx} ((\cosh x)^{\frac{1}{2}})}{(\sqrt{\cosh x})^2}$$

$(\tanh x)' = \text{sech}^2 x$

$$= \frac{1}{\cosh x} \left[\sqrt{\cosh x} \text{sech}^2 \sqrt{x} \frac{d}{dx} (x^{\frac{1}{2}}) - \tanh \sqrt{x} \cdot \frac{1}{2} (\cosh x)^{\frac{1}{2}-1} \frac{d}{dx} (\cosh x) \right]$$

$$= \frac{1}{\cosh x} \left[\sqrt{\cosh x} \cdot \text{sech}^2 \sqrt{x} \cdot \frac{1}{2} \frac{1}{\sqrt{x}} - \tanh \sqrt{x} \cdot \frac{1}{2} \frac{1}{\sqrt{\cosh x}} \cdot \sinh x \right]$$

$$= \frac{1}{\cosh x} \left[\frac{\sqrt{\cosh x} \cdot \text{sech}^2 \sqrt{x}}{2\sqrt{x}} - \frac{\tanh \sqrt{x} \cdot \sinh x}{2\sqrt{\cosh x}} \right]$$

$$= \frac{1}{\cosh x} \left[\frac{\sqrt{\cosh x} \text{sech}^2 \sqrt{x} \sqrt{\cosh x} - \tanh \sqrt{x} \cdot \sinh x \sqrt{x}}{2\sqrt{x} \sqrt{\cosh x}} \right]$$

$$= \frac{\cosh x \cdot \text{sech}^2 \sqrt{x} - \sqrt{x} \sinh x \tanh \sqrt{x}}{2\sqrt{x} (\cosh x)^{\frac{3}{2}}}$$

(v) Let $y = \tan(e^{\sinh^{-1} x})$

$$\frac{dy}{dx} = \frac{d}{dx} \tan(e^{\sinh^{-1} x})$$

$$= \sec^2(e^{\sinh^{-1} x}) \cdot \frac{d}{dx} e^{\sinh^{-1} x}$$

$(e^x)' = e^x$

$$= \sec^2(e^{\sinh^{-1} x}) \cdot e^{\sinh^{-1} x} \cdot \frac{d}{dx} (\sinh^{-1} x)$$

$$= \sec^2(e^{\sinh^{-1} x}) \cdot e^{\sinh^{-1} x} \cdot \frac{1}{\sqrt{x^2+1}}$$

$(\sinh^{-1} x)' = \frac{1}{\sqrt{x^2+1}}$

$$= \frac{e^{\sinh^{-1} x}}{\sqrt{x^2+1}} \cdot \sec^2(e^{\sinh^{-1} x})$$

(vi) Let $y = \frac{\sinh^{-1}x}{\operatorname{sech}^{-1}x}$

$$\frac{dy}{dx} = \frac{d}{dx} \left(\frac{\sinh^{-1}x}{\operatorname{sech}^{-1}x} \right)$$

$$= \frac{(\operatorname{sech}^{-1}x) \frac{d}{dx}(\sinh^{-1}x) - (\sinh^{-1}x) \frac{d}{dx}(\operatorname{sech}^{-1}x)}{(\operatorname{sech}^{-1}x)^2}$$

$$(\sinh^{-1}x)' = \frac{1}{\sqrt{x^2+1}} \quad = \frac{1}{(\operatorname{sech}^{-1}x)^2} \left[(\operatorname{sech}^{-1}x) \cdot \frac{1}{\sqrt{x^2+1}} - \sinh^{-1}x \cdot \left(\frac{-1}{x\sqrt{1-x^2}} \right) \right]$$

$$(\operatorname{sech}^{-1}x)' = \frac{-1}{x\sqrt{1-x^2}} \quad = \frac{1}{(\operatorname{sech}^{-1}x)^2} \left[\frac{\operatorname{sech}^{-1}x}{\sqrt{1+x^2}} + \frac{\sinh^{-1}x}{x\sqrt{1-x^2}} \right]$$

$$= \frac{1}{(\operatorname{sech}^{-1}x)^2} \left[\frac{\operatorname{sech}^{-1}x \cdot x\sqrt{1-x^2} + \sinh^{-1}x \cdot \sqrt{1+x^2}}{x\sqrt{1+x^2}\sqrt{1-x^2}} \right]$$

$$= \frac{x\sqrt{1-x^2} \operatorname{sech}^{-1}x + \sqrt{1+x^2} \sinh^{-1}x}{x\sqrt{1-x^2} (\operatorname{sech}^{-1}x)^2}$$

(vii) Let $y = \cosh x \cdot \coth x^2$

$$\frac{dy}{dx} = \frac{d}{dx} (\cosh x \cdot \coth x^2)$$

$$= (\cosh x) \frac{d}{dx} (\coth x^2) + \coth x^2 \cdot \frac{d}{dx} (\cosh x)$$

$$= \cosh x \cdot (-\operatorname{cosech}^2 x^2) \cdot \frac{d}{dx} (x^2) + \coth x^2 \cdot \sinh x$$

$$= -2x \cosh x \operatorname{cosech}^2 x^2 + \coth x^2 \cdot \sinh x.$$

$$(\coth x)' = -\operatorname{cosech}^2 x$$

For videos, visit YouTube

Suppose Math.

0332-6297570

DKHTAR B3AS.

(viii) Let $y = \sinh x \cdot \tanh x^2$

$$\begin{aligned}\frac{dy}{dx} &= \frac{d}{dx} (\sinh x \cdot \tanh x^2) \\ &= (\sinh x) \frac{d}{dx} (\tanh x^2) + \tanh x^2 \cdot \frac{d}{dx} (\sinh x)\end{aligned}$$

$$= (\sinh x) (\operatorname{sech}^2 x^2) \frac{d}{dx} (x^2) + \tanh x^2 \cdot \cosh x$$

$$= 2x \sinh x \operatorname{sech}^2 x^2 + \tanh x^2 \cosh x.$$

(ix) Let $y = \ln [\tanh (x^2 + 2x + 1)]$

$$\frac{dy}{dx} = \frac{d}{dx} \ln [\tanh (x^2 + 2x + 1)]$$

$$(\ln f)' = \frac{1}{f} \cdot f'$$

$$\frac{dy}{dx} = \frac{1}{\tanh (x^2 + 2x + 1)} \cdot \frac{d}{dx} (\tanh (x^2 + 2x + 1))$$

$$= \operatorname{coth} (x^2 + 2x + 1) \operatorname{sech}^2 (x^2 + 2x + 1) \frac{d}{dx} (x^2 + 2x + 1)$$

$$= \frac{\cosh (x^2 + 2x + 1)}{\sinh (x^2 + 2x + 1)} \cdot \frac{1}{\cosh^2 (x^2 + 2x + 1)} \cdot (2x + 2)$$

$$= 2(x+1) \operatorname{cosech} (x^2 + 2x + 1) \operatorname{sech} (x^2 + 2x + 1).$$

② Find $\frac{dy}{dx}$ for the following functions.

(i) $y = x \cosh^{-1} x - \sqrt{x^2 - 1}$

$$\begin{aligned}\frac{dy}{dx} &= \frac{d}{dx} (x \cosh^{-1} x) - \frac{d}{dx} ((x^2 - 1)^{1/2}) \\ &= x \frac{d}{dx} (\cosh^{-1} x) + \cosh^{-1} x \frac{d}{dx} (x) - \frac{1}{2} (x^2 - 1)^{\frac{1}{2} - 1} \frac{d}{dx} (x^2 - 1) \\ &= x \frac{1}{\sqrt{x^2 - 1}} + \cosh^{-1} x - \frac{1}{2} (x^2 - 1)^{-1/2} (2x) \\ &= \frac{x}{\sqrt{x^2 - 1}} + \cosh^{-1} x - \frac{x}{\sqrt{x^2 - 1}} \\ &= \cosh^{-1} x.\end{aligned}$$

(ii) $y = x \tanh^{-1} (3x)$

$$\begin{aligned}\frac{dy}{dx} &= \frac{d}{dx} (x \tanh^{-1} (3x)) \\ &= x \frac{d}{dx} (\tanh^{-1} (3x)) + \tanh^{-1} (3x) \cdot \frac{d}{dx} (x) \\ &= x \cdot \frac{1}{1 - (3x)^2} \cdot \frac{d}{dx} (3x) + \tanh^{-1} (3x) \cdot 1 \\ &= \frac{3x}{1 - 9x^2} + \tanh^{-1} (3x) \\ &= \frac{3x + (1 - 9x^2) \tanh^{-1} (3x)}{1 - 9x^2}\end{aligned}$$

$$(iii) \quad \ln(\cosh^{-1}x) + \sinh^{-1}y = C$$

$$\frac{d}{dx} [\ln(\cosh^{-1}x)] + \frac{d}{dx} (\sinh^{-1}y) = \frac{d}{dx} (C)$$

$$\frac{1}{\cosh^{-1}x} \cdot \frac{d}{dx} (\cosh^{-1}x) + \frac{1}{\sqrt{y^2+1}} \cdot \frac{dy}{dx} = 0$$

$$\frac{1}{\cosh^{-1}x} \cdot \frac{1}{\sqrt{x^2-1}} + \frac{1}{\sqrt{y^2+1}} \frac{dy}{dx} = 0$$

$$\frac{1}{\sqrt{y^2+1}} \frac{dy}{dx} = - \frac{1}{\sqrt{x^2-1} \cosh^{-1}x}$$

$$\frac{dy}{dx} = - \frac{\sqrt{y^2+1}}{\sqrt{x^2-1} \cosh^{-1}x}$$

For videos, visit YouTube

Suppose Math.

0332-6297570

ANKITABAS.

RanaMaths.com

(iv)

$$y = \ln(1-x^2) + 2x \tanh^{-1}x$$

$$\frac{dy}{dx} = \frac{d}{dx} [\ln(1-x^2)] + 2 \frac{d}{dx} [x \tanh^{-1}x]$$

$$= \frac{1}{1-x^2} \cdot \frac{d}{dx} (1-x^2) + 2 \left[x \frac{d}{dx} (\tanh^{-1}x) + \tanh^{-1}x \cdot \frac{d}{dx} (x) \right]$$

$$= \frac{1}{1-x^2} (-2x) + 2 \left[x \cdot \frac{1}{1-x^2} + \tanh^{-1}x \right]$$

$$= \frac{-2x}{1-x^2} + \frac{2x}{1-x^2} + 2 \tanh^{-1}x$$

$$= 2 \tanh^{-1}x.$$

RanaMaths.com

~~$\tan^{-1}(\tan -)$~~

(v)

$$y = \tanh^{-1}(\tan x^3)$$

$$(\tanh^{-1}x)' = \frac{1}{1-x^2}$$

$$\frac{dy}{dx} = \frac{d}{dx} [\tanh^{-1}(\tan x^3)]$$

$$= \frac{1}{1-(\tan x^3)^2} \cdot \frac{d}{dx} (\tan x^3)$$

$$= \frac{1}{1-\tan^2 x^3} \cdot \sec^2 x^3 \cdot \frac{d}{dx} (x^3)$$

$$= \frac{1}{1-\tan^2 x^3} \cdot \sec^2 x^3 \cdot 3x^2$$

$$= \frac{3x^2 \sec^2 x^3}{1-\tan^2 x^3}$$

(vi)

$$y = x \operatorname{sech}^{-1}(\sqrt{x})$$

$$\frac{dy}{dx} = \frac{d}{dx} (x \operatorname{sech}^{-1}(\sqrt{x}))$$

$$(\operatorname{sech}^{-1}x)' = \frac{-1}{x\sqrt{1-x^2}}$$

$$= x \frac{d}{dx} (\operatorname{sech}^{-1}\sqrt{x}) + \operatorname{sech}^{-1}\sqrt{x} \cdot \frac{d}{dx} (x)$$

$$= x \cdot \frac{-1}{\sqrt{x}\sqrt{1-(\sqrt{x})^2}} \cdot \frac{d}{dx} (x^{1/2}) + \operatorname{sech}^{-1}\sqrt{x}$$

$$= \frac{-x}{\sqrt{x}\sqrt{1-x}} \cdot \frac{1}{2\sqrt{x}} + \operatorname{sech}^{-1}\sqrt{x}$$

$$= \frac{-1}{2\sqrt{1-x}} + \operatorname{sech}^{-1}\sqrt{x}$$

$$= \frac{-1 + 2\sqrt{1-x} \operatorname{sech}^{-1}\sqrt{x}}{2\sqrt{1-x}}$$